Monohybrid Crosses Practice Worksheet

1. Black wool of sheep is due to a recessive gene (b) and white wool to its dominant gene (B).  A hybrid white buck (male) is crossed to a homozygous white ewe (female).  Find the genotypes and phenotypes of their offspring.

2.  Short hair is due to a dominant gene (R) in rabbits, and long hair is due to its recessive gene (r).  A cross between a short haired female and a long haired male produced what possible genotypes and phenotypes?

3. The lack of pigmentation, called albinism, in humans is the result of a recessive gene (a).  Two normal parents have an albino child. 
a) What are the genotypes of the parents?

b) What is the probability of the parents having another albino child?

4. Heterozygous black (Bb) guinea pigs are mated to homozygous recessive (bb) whites.  Predict the genotypic and phenotypic ratios. 
5.   The child of brown-eyed parents have blue eyes.  What is the genotype of each parent? (Brown eyes are dominant to blue eyes.)

6.  Could a homozygous brown-eyed man married to a blue-eyed woman have a blue-eyed child if brown eyes are dominant to blue eyes?

7.  Jane, who has brown eyes, claims that Joe is the father of her baby.  Joe denies the baby because the baby has blue eyes and Joe has brown eyes.  He says that it is impossible for him to be the father of the baby.  Is he correct?  Prove your answer with a Punnett Square.

